f) Discuss the causes of the Vietnam War.
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3. Answer any two questions: 1OX2=26
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a) Give an account of the Reformation

Movement led by Martin Luther in Germany.
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b) Explain the role of Bismarck in the unification
of Germany.
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¢) Explain the rise of Fascism in Italy aﬁer the
First World War.
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d) 1w you'think that the emergence of the
bipolar world gave: rise to the Cold War in

Europe?
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Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any .ten questions: 2x10=20
@RI Wi es T wie -
a) What do ybu mean by ‘Renaissance’?
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b) What is the meaning of the term ‘Humanism’?
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¢) Who was John Calvin?
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d) What is ‘Corvee’?

f’ fFe

[Turn Over]



g)

h)

i)

k)
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What do you mean by ‘Tennis Court Oath’?
‘GRF IR = TS B @R
What is ‘Stamp Act’?
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Who were the main leaders of the Vienna
Conference? ,
Fommt TR @ (T I e e
When and by whom was Napoleon defeated
ﬁnally‘7
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What is the ‘Confederation of the Rhine’?
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Who was Louis Blanc?
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What do you mean by ‘Blood and Iron

Policy’?

I 8 (@2 WS e T @Rie
What is ‘Avanti’? |
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What is the ‘Herrenvolk Theory’?
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2. Answer any four questions:

What is ‘Bi-Polarism’?
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What is ‘Non-Aligned Movement’?
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b)

d)
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Write a short note on the features of the

‘Scientific Revolution’.
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Discuss the sigﬁiﬁcénce of the American War
of Independence (1776).
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Point out the reasons of the failure of

‘Metternich System
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Discuss  the 1mportance of the February
Revolution of 1848
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Was the Treaty of Versailles too harsh on
Germany?

oPfi2 3% fr T os ager oM e
[3] [Turn Over]



